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Code : 01605

. (2% Hours) [Total Marks : 75

1) = All guestions are compulsory.
) Each question carries 15 marks. ,
3) Draw neat diagrams wherever necessary.

Attempt any two of the following -

{(a) Explain Game theory with the help of Prisoner’s Dilemma.
(b
{t
T
(e

(89

} Discuss Cournot’s Mode! of Oligopoly.
=} Discuss market sharing cartels,

Attempt any two of the following - _
Explain factor price determination under perfectiy competitive markets.

(a)
(b) Discussthe role of collective bargammg in wage determination under bilateral monopoly.
(c} Explain the loanable funds theory.

Attempt any two of the fol!owmg - o v
(a) “Perfect Compertut(on saﬂsﬁes all'the three ‘conditions of Pareto optimality”. Explain.
(b} Explain the concept of General Equilibrium. -

{c) Discuss the Arrow’s impossibility theorem.

Attempt any twn of the foi!owmg - ‘
{a) Discuss the prob‘em of adverse se!ec’clon in insurance markets.

{b) Discuss the Principal-Agent problem.

(¢}

C ‘Expiém there‘fsczency wage theory.
Attempt any three of the following :~
{a) Nash equilibrium

>

Theory of economic rent R -

{
(b)
{¢) Kaldor-Hicks compensation criterion
{d} Information failure and missing markets
(

e) Dominant firm price leadership model.
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